Assessment for S6

1. What is the name of the technique in which the operating system of a computer executes several programs concurrently by switching back and forth between them?

A. Partitioning

B. Multitasking

C. Windowing

D. Paging

E. None of the above

Answer: 
Multitasking 
2. The process by which the structure of the database is modified to eliminate hidden dependencies and replacing groups is ___
A. Normalization

B. Indexing

C. Enforcing referential integrity

D. Enforcing data integrity 

Answer: 
 Normalization

3. Trojan-Horse programs are
A. are legitimate programs that allow unauthorized access

B. do not usually work

C. are hidden programs that do not show up on the system

D. usually are immediately discovered

E. None of the above

Answer: 
are legitimate programs that allow unauthorized access

4. A medium for transferring data between two locations is called

A. Network

B. Communication channel

C. Modem

D. Bus

E. None of the above

Answer: 
Communication channel

5. Give the output 

Int a=5+7%2;

System.out.println(a)

Answer:
 6

6. A factor which might cause an individual to consider using a computer in criminal activities is:

	A.
	 The computer's access to large sums of money

	B.
	 The speed with which the crime can be accomplished

	C.
	 EFTS (Electronic Funds Transfer System)

	D.
	 All the above

	E.
	 None of the above


Answer: 
All the above
	7. Which of the following do you need to consider when you make a table in SQL?

	A.
 Data types

B.
 Primary keys

C.
 Default values

D.
 All of the above
Answer: 
All of the above.


Respond the following questions by True or False 
8. Peer to Peer network is only implemented by computers which run same operating system. 
        True 

         False 

        Answer 

           False 
9. In Server-Client network, Server respond to service only requested by the Client. 
          True 

          False 

        Answer 

           True  
10. Limit number of hosts in the Peer to Peer network are 15 computers. 
               True 

               False 

              Answer 

               False 
11. Client requests only the service available on the server in Server-Client network.   
                   True 

                 False 

                Answer 

                 True  
12. There is a dedicated computer in Peer to Peer network. 

                          True 

                          False 

                          Answer 

                           False 
